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QUESTION 1

What is the expected result of the following code? 

A. The code is erroneous and cannot be run. 

B. 20 

C. 10 

D. 30 

Correct Answer: A 

Explanation: The code snippet that you have sent is trying to use the global keyword to access and modify a global
variable inside a function. The code is as follows: 

speed = 10 def velocity(): global speed speed = speed + 10 return speed print(velocity()) 

The code starts with creating a global variable called "speed" and assigning it the value 10. A global variable is a
variable that is defined outside any function and can be accessed by any part of the code. Then, the code defines a
function 

called "velocity" that takes no parameters and returns the value of "speed" after adding 10 to it. Inside the function, the
code uses the global keyword to declare that it wants to use the global variable "speed", not a local one. A local variable
is 

a variable that is defined inside a function and can only be accessed by that function. The global keyword allows the
function to modify the global variable, not just read it. Then, the code adds 10 to the value of "speed" and returns it.
Finally, 

the code calls the function "velocity" and prints the result. However, the code has a problem. The problem is that the
code uses the global keyword inside the function, but not outside. The global keyword is only needed when you want to 

modify a global variable inside a function, not when you want to create or access it outside a function. If you use the
global keyword outside a function, you will get a SyntaxError exception, which is an error that occurs when the code
does not 



follow the rules of the Python language. The code does not handle the exception, and therefore it will terminate with an
error message. 

The expected result of the code is an unhandled exception, because the code uses the global keyword incorrectly.
Therefore, the correct answer is A. The code is erroneous and cannot be run. 

Reference: Python Global Keyword - W3SchoolsPython Exceptions: An Introduction ?Real Python 

The code is erroneous because it is trying to call the "velocity" function without passing any parameter, which will raise a
TypeError exception. The "velocity" function requires one parameter "x", which is used to calculate the return value of 

"speed" multiplied by "x". If no parameter is passed, the function will not know what value to use for "x". 

The code is also erroneous because it is trying to use the "new_speed" variable before it is defined. The "new_speed"
variable is assigned the value of 20 after the first function call, but it is used as a parameter for the second function call, 

which will raise a NameError exception. The variable should be defined before it is used in any expression or function
call. 

Therefore, the code will not run and will not produce any output. 

The correct way to write the code would be: 

# Define the speed variable 

speed = 10 

# Define the velocity function 

def velocity(x): 

return speed * x 

# Define the new_speed variable 

new_speed = 20 

# Call the velocity function with new_speed as a parameter 

print(velocity(new_speed)) 

Copy 

This code will print 200, which is the result of 10 multiplied by 20. 

References: 

[Python Programmer Certification (PCPP) ?Level 1] 

[Python Programmer Certification (PCPP) ?Level 2] 

[Python Programmer Certification (PCPP) ?Level 3] 

[Python: Built-in Exceptions] 

[Python: Defining Functions] 



[Python: More on Variables and Printing] 

 

QUESTION 2

What is the expected output of the following code? 

marks = [80, 70, 90, 90, 80, 100] 

average = sum(marks) // len(marks) 

grade = \\'\\' 

A. A 

B. C 

C. The code is erroneous. 

D. D 

E. B 



F. F 

Correct Answer: E 

 

QUESTION 3

Only one of the following statements is true - which one? 

A. addition precedes multiplication 

B. multiplication precedes addition 

C. neither statement can be evaluated 

Correct Answer: B 

 

QUESTION 4

You are an intern for ABC electric cars company. You must create a function that calculates the average velocity of their
vehicles on a 1320 foot (1/4 mile) track. Consider the following code. 



The output must be as precise as possible. What would you insert instead of ??? and ??? ? 

A. 1 | int 2 | int 

B. 1 | oat 2 | oat 

C. 1 | int 2 | oat 

D. 1 | oat 2 | int 

Correct Answer: B 

 

QUESTION 5

UTF 8 is ... 

A. the 9th version of the UTF Standard. 

B. a synonym for "byte". 

C. a Python version name. 

D. an encoding form of the Unicode Standard. 

Correct Answer: D 

 

QUESTION 6

What is the expected behavior of the following program? 

A. The program will generate an error message on the screen 

B. The program will output "Goodbye!" 

C. The program will output Goodbye! 

D. The program will output ("Goodbye!") 

Correct Answer: A 

 

QUESTION 7

What is the expected output of the following code? 



A. three 

B. (\\'one\\', \\'two\\', \\'three\\') 

C. two 

D. one 

Correct Answer: D 

 

QUESTION 8

Which of the following snippets shows the correct way of handling multiple exceptions in a single except clause? 

A. Option A 

B. Option B 



C. Option C 

D. Option D 

E. Option E 

Correct Answer: C 

 

QUESTION 9

What is the output of the following snippet? 

A. 9 

B. The snippet is erroneous. 

C. 0 

D. 3 

Correct Answer: A 

 

QUESTION 10

A code point is: 

A. A point used to write a code. 

B. A number which makes up a character. 

C. A code containing a point. 

Correct Answer: B 

 

QUESTION 11

If you want to build a string that reads: 

Peter\\'s sister\\'s name\\'s "Anna" 

Which of the following literals would you use? (Choose two.) 



A. \\'Peter\\'s sister\\'s name\\'s "Anna"\\' 

B. \\'Peter\\\'s sister\\\'s name\\\'s \"Anna\"\\' 

C. "Peter\\'s sister\\'s name\\'s "Anna"" 

D. "Peter\\'s sister\\'s name\\'s \"Anna\"" 

Correct Answer: BD 

 

QUESTION 12

The following is a program to validate customer numbers. 

The number may only contain numbers and dashes. The number must have the right format (dd-ddd-dddd). What is true
about this program? 

A. There will be no error but there will be an unwanted result. 

B. There will be a SyntaxError. 

C. The program works properly. 

D. There will be an AttributeError. 

Correct Answer: C 
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